 (
Ho
w to read a triple beam balance
)[image: C:\Users\Lara\Desktop\triplebeambal[1].jpg]

 (
How to read a graduated cylinder
)[image: http://jan.ucc.nau.edu/~jkn/Chem%20151%20Manual%20Intro1&2_files/image010.jpg]	

 (
How to read a periodic table square
)[image: https://www.classzone.com/books/earth_science/terc/content/investigations/es0501/images/es0501_p6_readinginfo_b.gif]
 (
How to read the periodic table
)
 (
The Group Number (across the top) tells you how many valence electrons each element has.  So, every element in Group 1 has 1 valence electron and are therefore VERY reactive.
The Period Number (down the left hand side) tells you how many energy levels an atom of an element has.  So, all elements in period 3 will have 3 energy levels.
)[image: http://www.amnh.org/ology/features/stufftodo_einstein/images/atom_periodicsm.gif]


 (
We will learn about all of the periodic table trends in our next unit so for now, just recognize how to read the squares, that elements in Group 1 will be most reactive because of # of valence electrons and elements in Group 18 (or sometimes 8) will be non-reactive because they have 8 valence electrons.
)[image: C:\Users\Lara\Desktop\periodic-table-of-elements-information.jpg]
 (
Cover up the variable you are trying to find and then perform the operation that is left.
Ex. If I’m trying to solve for speed, I would divide distance by time.
)[image: http://labspace.open.ac.uk/file.php/7452/t175_8_025i.jpg] (
How to use the formula triangles for calculations
)
	
 (
Density = Mass/Volume
)[image: A formula triangle involving mass, volume, and density. Cover one up and it gives you the formula that you need to find the one you're hiding!][image: https://encrypted-tbn2.gstatic.com/images?q=tbn:ANd9GcQEEbdekJJyIZJh0ok3hFSvFHNfzxofK3XTdtCU_HsPltX9V7IDDw]                                                                                             
 (
Force = Mass X Acceleration
)
[image: Not only does this foldable provide all variations of the formula involving Work, Force, and Distance but the foldout part already has the definitions filled in for you. A GREAT piece to add into a journal to help students with vocabulary and with the understanding of the mathematics involved in calculating WORK.]
 (
Work = Force X Distance
)

 (
How 
to draw a Bohr Model for an atom of an element
)


[image: ]   [image: ]

[image: ]  [image: ]

[image: ]    [image: ]
[image: ]  [image: ]
 (
How to draw a Lewis Dot Structure
)


 (
Cl is in Group 7 so we know it has seven 
valence electrons while having 1
7 total electrons because Cl’s atomic number 
is 1
7
.  Chlorine will have 17 protons because the atomic number is 17.
)[image: http://i.ytimg.com/vi/y6QZRBIO0-o/hqdefault.jpg]
[image: ]



 (
How to find how many neutrons are in an atom of an element
)


[image: ]
 (
Remember to round the atomic mass to the nearest whole number (the leftover bits have to do with isotopes of the element.
)
 (
Isotopes are variants of a particular chemical element such that, while all isotopes of a given element have the same number of protons in each atom, they differ in neutron number.  So the atomic mass listed on the periodic table is an average mass from all the isotopes.
)[image: ]
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Valence Electrons

Each electron shell can hold | Electron Number of
a certain number of Shell Electrons
electrons
. 1 2

Electron shells are filled
from the inside out 2 8
Noble Gases have full outer 3 8
electron shells
All other elements have 4 18
partially filled outer 5 18
electron shells

6 32

7 32
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Bohr Diagrams

1) Find your element on the periodic table.

2) Determine the number of electrons — it is the
same as the atomic number.

3) This is how many electrons you will draw.

C Carbon

Atomic Number: 6
Atomic Mass: 12.01
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Bohr Diagrams

* Find out which period
PERIODS (row) your element is in.
* Elementsin the 1%
period have one energy
level.

OOy - fementsinthe
ERNERRNNRRNNEE

period have two energy
levels, and so on.
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Bohr Diagrams

1) Draw a nucleus with
the element symbol
inside.

2) Carbonisin the 2"
period, so it has two
energy levels, or shells.

3) Draw the shells around
the nucleus.
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Bohr Diagrams

1) Add the electrons.

2) Carbon has 6
electrons.

3) The first shell can only
hold 2 electrons.
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Bohr Diagrams

1) Since you have 2
electrons already
drawn, you need to
add 4 more.

2) These goin the 2™
shell.

3) Add one atatime
-starting on the right
side and going counter
clock-wise.
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Bohr Diagrams

* Check your work.

* You should have 6 total
electrons for Carbon.

*  Onlytwo electrons can
fit in the 1%t shell.

* The 2" shell can hold up
to 8 electrons.

* The 3“shell can hold 18,
but the elements in the
first few periods only
use 8 electrons.
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Bohr Diagrams

End of Study Guide.

You should know how to
draw a Bohr Diagram for
the first 20 elements.
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STEPS TO DRAWING
ELECTRON DOT DIAGRAMS

Werite out the
chemical symbol

+ Find the number of

valence electrons L4 Cl
+ Draw the valence

electrons in the

following

configuration

Valence Electrons = 7
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Symbol
Aone- or two-letter
abbreviation derived from
the element's English or
Latin name.

Name
Element's common name.

Mass Number
‘The sum of the numbers of protons
and neutrons in a specific isotope.

Protons

Neutrons
200
200 &

Carbon Atom

Atomic Number
Equal to the number of protons in the
nucleus, as well as the number of
electrons in the electron cloud.

Atomic Mass
Weighted average of the masses
of all the element’s isotopes.
Rounding the atomic mass to the
nearest whole number yields the
mass number of the most common
sotope.

©— Electron




image4.gif
D 2

Elements in the 2 P oH Elements in the same

same row are in 2(3|4 518|7(8)°pY column are In the same

the same period: T——group. This means they

3[uig BEEEE D

This means they 3456789101112 react with other elements

have similar a[1s[z0l2ul2zlaafadleslos[ar slos ool:lszl3a/sdesgis]  in similar ways.

physical properties, [37/38/39]40]41(42/43] 44  45|46| 47|48 49| 50[51 |55 P54]

such as how well

they bend or o[ sefra[72]73[7a]75)7e[77]72] 79 ool ez[aa[afe |

CElNE R, 7|87|88fo3f10410s{108h07 081081 10f1 11111 14 fug e
57[s8]s]sa[e1]s2]a[e4[ss]se[e7[ss]ss[ ]
]50[51[92[93]54[95]o6]57[8]osledhor





image5.jpeg
mass increases |

Atomic

k

Nonmefalk = green outline

Meh\londe = purple outline
\/gllow outline

2 Jalboh
Fami I\’: column AKA 3mvp,sum.\m— Chavracteristhc

Period = oW
mefals

Periodic Table of the Elements

"cu "Zn Gal

21 2
Ca; Sc | Ti | V | Cr| MniFa ['Cot NI
e | s | muiun | i | Guiiun | Mo 1 | s
W R W CWE TR SN & 8% E6 { & RN
38 139 40 a1 42 43 a4 l ’47
sr Y "zr 'Nb ‘Mo Tc Ru Rh Ag Cd 4
s |y | 2 | o | v, oot | rymenan | ity | r....w. o i
YT IO L T dopom| et | P | ot | YT | SPte VMY |
61 72 78 TR 175 78 7 . ™ 80 8
Hf Ta W Re Os Ir Pt Au H |
farhan | s | e | ok comm i ey ot A G T |
o | o | e | Tk | omun | owen | omny |, SR WRL e | B
107 108 109 1o ﬂ 3 114 I
m | um

Cn Uut FI

mium Urgmium

S | RPN RO B T 0 7
Pr “Nd Pm Sm Eu | Gd | TbLD "Ho

g i T R ST | | O |

rmeN"Ac “Th ‘Pa u NE “Pu Am‘cm i Bk - ot "Es "Fm

s P | Ao |

Moy | Pt | Yk
A70% | o WoR

De creases | > d

STATES OF MATTER sgc 7l =

oD COLOR. orange Y /PA'”)I
% W

LieUiD. CBLoe A9\0 e -— (s'
che  “tolor" wWhite D“f’/g)





